
MATHS

BOOKS - CAREER POINT

MOCK TEST 4

Maths

1. ABCD is a convex quadrilateral and 3, 4, 5,

and 6
 points are marked on the sides AB, BC,

CD, and DA, respectively. The number
 of

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_cTkWVcW5SyAG


triangles with vertices on different sides is a.


b. 
c. 
d. 

A. 270

B. 220

C. 282

D. 342

Answer: D

Watch Video Solution

270 220 282 342

https://dl.doubtnut.com/l/_cTkWVcW5SyAG


2. Let a die is loaded in such a way that prime

number faces are twice as likely to occur as a

non prime number faces. The probability that

an odd number will be show up when die is

tossed is-

A. 

B. 

C. 

D. 

Answer: D

1

3

2

3

4
9

5

9

https://dl.doubtnut.com/l/_fS3a0f6QqXjX


Watch Video Solution

3. 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Σn
r= 1( − 1)

r+ 1
.  is equal to −

nCr

r + 1

−
1

n

1

n + 1

−1

n + 1

n

n + 1

https://dl.doubtnut.com/l/_fS3a0f6QqXjX
https://dl.doubtnut.com/l/_DCHk88RQt3xt


4. If p,q and r are three statements then

negation of compound statement of

is -

A. 

B. 

C. 

D. None

Answer: B

Watch Video Solution

p → (~rv~q)

p ∧ (r ∨ q)

p ∧ (r ∧ q)

p ∨ (r ∨ q)

https://dl.doubtnut.com/l/_DCHk88RQt3xt
https://dl.doubtnut.com/l/_mnACrVXOhzLc


5. The ratio of  term from the beginning

and  term the end in the expansion of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

11th

11th

(2x − )
25

 is −
1

x2

x15

−25x15

215x5

25x− 15

https://dl.doubtnut.com/l/_mnACrVXOhzLc
https://dl.doubtnut.com/l/_hm6iwvI8Fxhf


6. The equation

 has

A. No solution

B. Unique solution

C. Infinite solution

D. None of these

Answer: B

Watch Video Solution

sin− 1 x − cos − 1 x = cos − 1( )
√3

2

https://dl.doubtnut.com/l/_hm6iwvI8Fxhf
https://dl.doubtnut.com/l/_ocFobw5gihDv


7. A vertical tower PQ subtends the same

anlgle of  at each of two points A and B ,60

m apart on the ground .If AB subtends an

angle of  at p the foot of the tower ,then

find the height of the tower .

A. 10 m

B. 20 m

C. 30 m

D. 40 m

30∘

120∘

https://dl.doubtnut.com/l/_ocFobw5gihDv
https://dl.doubtnut.com/l/_EDDfaKVfcQGK


Answer: B

Watch Video Solution

8. If  is possible if :

A. 

B. 

C. 

D. 

Answer: C

|z1 + z2| = |z1| + |z2|

z2 = 1

z2 =
1

z1

arg(z1) = arg(z2)

|z1| = |z2|

https://dl.doubtnut.com/l/_EDDfaKVfcQGK
https://dl.doubtnut.com/l/_gitPrW3BDYkI


Watch Video Solution

9. Let the equation of a curve passing through

the point (0,1) be given b . If the

equation of the curve is written in the form

, then f(y) is

A. 

B. 

C. 

D. None of these

y = ∫x2ex
3
dx

x = f(y)

√loge(3y − 2)

(loge(3y − 2))1 / 3

(loge(2 − 3y))1 / 3

https://dl.doubtnut.com/l/_gitPrW3BDYkI
https://dl.doubtnut.com/l/_7H0Ktij2MAGd


Answer: B

Watch Video Solution

10. If coses  is true iff-

A. 

B. 

C. 

D. none of these

Answer: D

0 =
x2 − Y 2

x2 + Y 2

x = y ± 0

x < y

x > y

https://dl.doubtnut.com/l/_7H0Ktij2MAGd
https://dl.doubtnut.com/l/_6VXwLjuFFlpd


View Text Solution

11. The area bounded by the curves  x,

y= cos x and y-axis in 1 quadrant is -

A. 

B. 

C. 

D. 

Answer: C

y = sin

√2

√2 + 1

√2 − 1

√2 + 2

https://dl.doubtnut.com/l/_6VXwLjuFFlpd
https://dl.doubtnut.com/l/_In2qYLT0IiEA


Watch Video Solution

12. The solution of the DE

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ √ = 0
dy

dx

1 − y2

1 − x2

sin− 1x. sin− 1y = C

sin− 1x = Csin− 1y

sin− 1x − sin− 1y = C

sin− 1x + sin− 1y = C

https://dl.doubtnut.com/l/_In2qYLT0IiEA
https://dl.doubtnut.com/l/_9sMjyLbBojRp


13. A variable circle having fixed radius 'a'

passes through origin and meets the co-

ordinate axes in point A and B. Locus of

centroid of triangle OAB where 'O' being the

origin, is -

A. 

B. 

C. 

D. 

9(x2 + y2) = 4a2

9(x2 + y2) = a2

9(x2 + y2) = 2a2

9(x2 + y2) = 8a2

https://dl.doubtnut.com/l/_9sMjyLbBojRp
https://dl.doubtnut.com/l/_g8gtuBUxQB3W


Answer: A

Watch Video Solution

14. The chord 
 of the parabola 

cuts the axis of the parabola at 
 If 


 , and 


then prove that 
.

A. 

B. 

C. 

AB y2 = 4ax

C.

A ≡ (at12, 2at1), B ≡ (at22, 2at2)

AC :AB1: 3, t2 + 2t1 = 0

t2 = 2t1

t2 + 2t1 = 0

t1 + 2t2 = 0

https://dl.doubtnut.com/l/_g8gtuBUxQB3W
https://dl.doubtnut.com/l/_GwI23Hmixrtw


D. None of these

Answer: B

Watch Video Solution

15. If tangents are drawn to the ellipse


then the locus of the midpoint

of the intercept made by the tangents

between the coordinate axes is


 (b) 


(d) 

x2 + 2y2 = 2,

+ = 1
1

2x2

1

4y2
+ = 1

1

4x2

1

2y2

+ y2 = 1
x2

2
+ = 1

x2

4

y2

2

https://dl.doubtnut.com/l/_GwI23Hmixrtw
https://dl.doubtnut.com/l/_A4gr3INQzZ4v


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ = 1
1

x2

1

2y2

+ = 1
1

4x2

1

2y2

+ = 1
1

2x2

1

4y2

+ = 1
1

2x2

1

y2

16. 

A. An even function

f(x) = (tanx5)ex
3sgnx7

 is −

https://dl.doubtnut.com/l/_A4gr3INQzZ4v
https://dl.doubtnut.com/l/_UObMhaYGqyAU


B. An odd fundtion

C. Neither even nor odd function

D. None of these

Answer: B

Watch Video Solution

17.  where 


A. 1

if y = cos − 1( ),
5cosx − 12sinx

13

x ∈ (0, ),  then  is −
π

2

dy

dx

https://dl.doubtnut.com/l/_UObMhaYGqyAU
https://dl.doubtnut.com/l/_4yUlbgnOQaV4


B. -1

C. 0

D. None of these

Answer: A

Watch Video Solution

18. 

A. 

B. 

lim
x→ 0

= 2  then −
(1 + a3) + 8e1 /x

1 + (1 − b3)e1 /x

a = 1, b = 2

a = 1, b = ( − 3)
1 / 3

https://dl.doubtnut.com/l/_4yUlbgnOQaV4
https://dl.doubtnut.com/l/_rcsr6RZoGDRh


C. 

D. None of these

Answer: B

Watch Video Solution

a = 2, b = 3
1

3

19. If  are three mutually

perpendicular vectors, then the vector which is

equally inclined to these vectors is (A)

 (B)  (C) 

→
a ,

→
b ,

→
c

→
a +

→
b +

→
c + +

→
/ ∣

∣
→
c ∣

∣

→
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∣
∣
→
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→
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∣
∣
∣

→
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∣
∣
∣

https://dl.doubtnut.com/l/_rcsr6RZoGDRh
https://dl.doubtnut.com/l/_P4770achExBF


 (D) 

A. 

B. 

C. 

D. |veca|veca-|vecb|vecb+|vecc|vecc|`

Answer: B

Watch Video Solution
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https://dl.doubtnut.com/l/_P4770achExBF


20. A straight line moves so that the sum of

the reciprocals of its intercepts on two

perpendicular lines is constant then the line

passes through-

A. A fixed piont

B. A variable point

C. Origin

D. None of these

Answer: A

https://dl.doubtnut.com/l/_P4770achExBF
https://dl.doubtnut.com/l/_HtE71yZ2Y5hJ


Watch Video Solution

21. The points 

are collinear for-

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

(1, 1), (0, sec20), (cosec20, 0)

0 =
π

2

0 ≠
nπ

2

0 = nπ

https://dl.doubtnut.com/l/_HtE71yZ2Y5hJ
https://dl.doubtnut.com/l/_87TleuARFLAz


22. The equation of a line which passes

through point  and perperdicular

to the straight lines

 and 

 is -

A. 

B. 

C. 

D. None of these

A(1, 0, − 1)

→
r = 2ĵ − ĵ + k̂ + λ(2 î + 7ĵ − 3k̂)

→
r = 3 î − ĵ + 3k̂ + λ(2 î − 2ĵ + 5k̂),

= =
x − 2

29

y

−16

z + 1

18

= =
x − 1

29

y

−16

z + 1

−18

= =
x − 1

16

y

−16

z + 1

−18

https://dl.doubtnut.com/l/_87TleuARFLAz
https://dl.doubtnut.com/l/_XrdXf7QAEIji


Answer: B

Watch Video Solution

23. The curve  is inclined

by  to x-axis at origin and it touches x-axis

at (1,0). Then

A. 

B. 

C. 

D. 

y = ax3 + bx2 + cx

45∘

a = − 2, b = 1, c = 1

a = 1, b = 1, c = − 2

a = 1, b = − 2, c = 1

a = − 1, b = 2, c = 1

https://dl.doubtnut.com/l/_XrdXf7QAEIji
https://dl.doubtnut.com/l/_mtkpua69bc9p


Answer: C

Watch Video Solution

24. If  has real

and distinct roots, then minimum value of

 is

A. 1

B. 0

C. 

D. 

x2 + ax − 3x − (a + 2) = 0

(a2 + 1)/(a2 + 2)

1

2

1

4

https://dl.doubtnut.com/l/_mtkpua69bc9p
https://dl.doubtnut.com/l/_RWgN45Mfzzu2


Answer: C

Watch Video Solution

25. 

A. 

B. 

C. 

D. 

i = ∫ {1 + (x + 2)log(x + 2)}dx =
ex

(x + 2)

ex. log(x + 2) + c

ex /(x + 2) + c

ex(x + 2) + c

ex(x − 2) + c

https://dl.doubtnut.com/l/_RWgN45Mfzzu2
https://dl.doubtnut.com/l/_m3P6D1ute5FY


Answer: A

Watch Video Solution

26. If R is a relation on N as

which of the following is FALSE ?

A. 

B. Domain of 

C. Rangre of 

R = {(1 + x, 1 + x2) : x ≤ 5, X ∈ N}

R = {(2, 2), (3, 5), (4, 10), (5, 17), (6, 25)}

R = {2, 3, 4, 5, 6}

R = {2, 5, 10, 17, 26}

https://dl.doubtnut.com/l/_m3P6D1ute5FY
https://dl.doubtnut.com/l/_iScEfflJmQ9U


D. None of these

Answer: A

Watch Video Solution

27. Cosnsider the system of equation 

 


 if , then

the 

system has

a1x + b1y + c1z = 0, a2x + b2y + c2z = 0,

a3x + b3y + c3z = 0

∣
∣

∣
∣

a1 b1 c1

a2 b2 c2

a3 b3 c3

∣
∣

∣
∣

= 0

https://dl.doubtnut.com/l/_iScEfflJmQ9U
https://dl.doubtnut.com/l/_jpKOFN41SOpi


A. More than two solutions

B. One trivial and one-non trivial solutions

C. No solution

D. Only trivial solution (0,0,0)

Answer: A

Watch Video Solution

28. A sample of 35 observations has the means

80 and SD. As 4. A second sample of 65

observations from the same population has

https://dl.doubtnut.com/l/_jpKOFN41SOpi
https://dl.doubtnut.com/l/_vFoVt7vuahXi


mean 70 and S.D.3. The S.D. of the combined

sample is -

A. 5.83

B. 5.58

C. 34.2

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_vFoVt7vuahXi


29. If A and B are two square matrices such

that 

 then  is eual to-

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

B = − A− 1BA, (A + B)2

A2 + B2

A2 + 2AB + B2

A + B

https://dl.doubtnut.com/l/_YCN5n1NMePWc


30. Given 

Find P such that BPA= 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A =
⎡
⎢
⎣

1 1 1

2 4 1

2 3 1

⎤
⎥
⎦

, B = [
2 3

3 4
].

[
1 0 1

0 1 0
]

∣
∣
∣

−4  7 −7

 3 −5  5

∣
∣
∣

∣
∣
∣

7 4 −7

5 3 −5

∣
∣
∣

∣
∣
∣

−7 7 −4

 3 5 −5

∣
∣
∣

∣
∣
∣

−4  7  7

 5 −5  3

∣
∣
∣

https://dl.doubtnut.com/l/_FiZc8KoxMJ67



